WE - 202546 H4-5H FHE i H—
—_— KPR ERRA KT AL LA 20O i 7
A VxAV—=ARZ T I AR AR {Frie FEHY
LA K3 PR E et
A4+ | ®A 14 2hL 3hL 4L 5L 6L The 8z
e85 7658 200m =5E #31(3) w2260 (+3.0)|ZER KEF(3) w2297 (+3.0)[#H1Z EK(2) w2313 (+3.0)[EE EA(3) w2369 (+3.0)[E2  fEA(2) w2392 (+3.0) =B FHEG) w2416 (+3.0)[kA EKREB) w2431 +3.0)|[fEHE EF(3) w2455 (+3.0)
- BWEF BEF BWEF fEMmET fEHEES WE T A H EET
6548 | 400m B PN -16)) 51.93|MA #E®R) 54.70|3F] F£03) 55.36|F% #(3) 56.35|1E8 EEQ) 56.71[mE =REA) 56.93 m‘ A—(3) 57.39|E@ KXAQ) 57.80
AREY B AR 2% FEHRYE TEHmEH L85 R Bk EFF
67158 800m Wi HE3) 2:04.76(7F #WH(3) 2:05.25[Em EAQ) 2:09.92[@x mEQ) 2:10.87[8%M ®&EQ) 2:12.25|A% #3+0) 2:12.42|x%F ®%&Q) 2:13.20(w#lk KEQ3) 2:13.41
fEEES A¥EF EF K5 EH fEES fEHEES Bk F¥d
6756 | 3000m| < F H—ER(3) 8:58.77|F#E 1&(3) 9:01.31[x¢8 #EQ) 9:39.82(Fm #E(2) 9:42.84|7"#F EFE(2) 9:45. 518 #+3) 9:46.76| a1 ##(B)  10:01.04|mE  £(2) 10:02.80
H4> HRC GR|fE@AF GR|fEREH EFH KIEF fEEES TR+ LEGACY
6A4H 110mIIiE FERER(3) wis72 (+37)[HO JEKE(3) wissl +3.)[ANf ER(2) w1634 (+3.7)|—m EHE3) w1686 (+3.D|M BTERGB) wire2? +3.7)|EE s(3) wir30 +3.7)| LEEF F(3) wirT2 (37| EBE  FRF(3) wis.se (+3.7)
AIEF LE%&EP fEMmET TF¥eh R/ HF Bl BWET +EHrEF
AREF 45.39| Kt 45.61|fEEFF 45.66 | F 45.71 J:E%/TEEP 47.07|E K H 47.76|#5E 48.11 k%qﬂ 51.68
AR (3) & FEAREB(3) A= PN ) mz BEXRQ) O EE3) HE HAREG) %5 2H0) AFH BEQ3)
6 5H |4xi0mr[[RE #AL(3) kB HE—BR(3) £ EEQR) B HEQ) Eﬁ ﬁm(3) Ke EKRQ) s &) TEAR ffJ‘U\(3>
F#H F50) ZH F() HE BAG) =@ #30) BE BAQ) A AA3) We fHE@3) Eit BNAG3)
ngE BEEQ3) 2)Il R¥Q3) iwE M) =R E(2) 1&7& 42 (3) B EEQ) BE EEQ) a5 #Ea2(3)
6A5H zﬁ.%wtig EHEQR) 1.70[FE@ H(@2) 1.60[FEH K—(2) 1.45|8 MmF(Q2) 1.45|57 1H2(2) 1.40
FFF R/ di A¥EF A¥EF R/ di
6540 | e g #ZEQ3) 3.201% 8 ®X() 3.201% 8 E&(@1) 2.40
#HBilg Ly ah +HrEh
P fra— i BR(2) we.0l (+2.4) bR EE(Q2) whsi2 (+33)[EBE ERI(1) 5.57 (+0.8)|mA #4(03) 555 (+1.8)[¥E EARER(3) 5.54 (+1.8)|EE KBr) ws48 (+3.0)[fTH  FA(2) 5.41 (+1.4)|3kA MK(3) 5.17 (+1.0)
fEERET AEF BEF fEFH REF fEHEET KEF BASH
6540 | =Bk 28 Fo2) 1189 (+0.0)|5KE EPQE) wild7 +2)|dbA BEEQ) wildl (+23)|&E BAEE) wilils (+23)[FxR AE(R) 1103 (+1.8)F:E m(3) 10.61 (-0.4)[RA #iA(3) wi0.4s (+2.1)
— A¥EF A¥EF AEF fEHmE+ T8 srEH +EHsrEF BADH
6150 |z £ RE—8B(3) 1455(RE EBEAR) 10.40| %88 FRMkHE(3) 9.90(2)1l #E®R) 9.49(2H =) 8.89(F8 fMFE(2) 8.45|8 Xx—(2) 8.04[HHE =E(2) 8.02
A¥EF GR| EH s EF EHsraF BEF fEE S AEF #BlE R/ dis
1257 [ea4n| 100m TTE B 1236 +L2[EN oAaol) 1246 (L2)|FR  —E(1) 1253 (+1.2)[EA EAQ) 1274 (+1.2)|FRE EEA(1) 1283 (+1.2)[EE EH(1) 1293 +1.2)[EE R(Q) 1294 +1.2)|FA 2E(1)  12.96 (+1.2)
BAEF TRISE spurt BREF TRISE BET fEHEEF AEF
654 | 1500m Y =EAD) 4:30.61[mEE =LQ) 4:40.49(® 1L =w|E2(1) 4:58.48["&  BA() 5:04.96|FEH MWRE(Q) 5:06.94[ 4 BEE(D) 5:10.59[ Ak &K1 5:12.81|= ik (1) 5:15.00
Bl Bl S BASH AEF B EF b BREF KEH BET
o7 6840 100m wME ERQ) 1122 +1n[EZE BA(Q2) 116l +LD|=EF #®(Q) 1177 +1L.N|HE HHQ) 1178 +1L.D[ER Z¥E(2) 11.99 (+1.7)|iush #K(2) 1215 (+1.7)|FHE &PH(Q) 12.16 (+1.7))I|E] BEA(2) 12.29 (+1.7)
BWEF GR|fEHEH R/ dis fEHmE+ fEHEET BEHFR TR+ Bk
6540 | 1500m T E(2) 4:32.71|1&x AREQ) 4:3415("HF BFHQ) 4:35.26(fFE  £(2) 4:38.47(%&R  EZE(2) 4:4053[15 ®EQ) 4:41.02]|&®; ##HQ) 341155 =2(2) 4:42.04
EFH AXHEF A¥EF LEGACY LE fEEAE S KEF TRISE
357 [6n48| 100m = #3F(3) 1110 (+1.6)|tEEE IME(R) 11.35 (+1.6)[ AR FE(3) 1157 (+1.e)[EK =A@GB) 11.62 (+1.6)[A1E EZ(3) 11.70 (+1.6)[#EE H—2B) 11.72 (+1.6)|&/18 HIEE) 11.81 (+1.6)|fIEE HF+(3) 11.83 (+1.6)
BWEF AEF BHEF fEEmE+ AEH KFEF BWET AAEF
6746 | 1500m X£FH H—EB(3) 4:14.99(FEE Q) 4:17.37(¢E FEQ) 4:26.36[tiE  ##(3) 4:27.88|AaM  E#HQ) 4:27.89(F ME(3) 4:28.28[F1 BA®) 4:36.88[ LT EAERQ) 4:45.87
H4> HRC fEE fEREH fEREH fEES KFEF FFH AEF
[ P #BE HEQ) w1zl (22)|F2E F=2) wises (22| ilhfh AK(2) wiar3 +22|FEIE JFE(2) wias +22[frh FR(2) wisi2 (+22) |48 MAE2) wis28 (+2.2) [Tl BE2) wile.02 (+22) B8  {H0(2) w113 (+2.2)
B BWEF A¥EF EHFR g KFEF EHsrEH KEH BWEF
%EEE%EP 48.40|FHZFh 49.41|3k / Hih 49.69| K= 50.50 EF 51.88|KFEH 52.58| E&F 4 B 54.42
&% TE0) 2F BLNQ) EH OBQ2) = EM0Q) AR <BBQ) Th R (Q2) ES A IE0)
615 H |4xL00mR| /a() T ) g EsER(1) A B(1) ZfE ERQ) #wm gEm) EFFE AQ)
IINEE tﬁﬂa‘:(l) BA BEARQ) LA &) AE BAQ) XH FAQ) WA Q) WB B
22 BAQ) EEEe) —EH BEQ) Jer BHEQ) TR E(2) B #E2) I %H02)
b
iy | By| AR 97 | BmBE 63 tgf;} 53 wmEs 52 |mmme 51 | mme 48 | Akme a1




R R 202546 H 4+5 H BHE (T =
e, AKoTPERBERFTRARELRRXS — .
BB, TxAY—ARZ T A Rk BT i FEH
LA A Ko ARG E B4
Bfr | B Ui PA 3L Afr 5L 6L e 8fir
sk l6asa| coom [ R 2B50GLY[MAE TR 2691 GLI(IEFR HOR 2012GLIMHAE o5 853GLI|RE BR - BELGLIER PP 2896 GLIMEO IHR 2006 GLIIFR BE 2054 (+13)
- fEE T R/ di AN fEFE T REF BEH IR/ die KEF
6440 1500m 55X & 4:51.84|/\8% 3£ 4:54.06 (¥R BAF 4:57.31|pIEE BEX 4:57501T0O F= 5:02.62| 51 A 5:09.63:&H /L 5:1421|1B R &= 5:18.63
HH# > ARC fEE S AEF fEFE T fEHEET WEF fEHE T e
6748 |100mH ZEF AR 1484 LD |EBE & 1555 (+1.7) |/l =P 15.97 (+1.7)[fRIE  &FTh 1687 (+1.0)|ner vy Fie 1703 +1N|FHR O 1894 +1.n|hAa OF 1987 +L)[HE Z 5 20.47 (+1.7)
Bl LBy ah A¥EF fEFEET L8 s B EF KEF BWEH
L8y R 52.42|FREF R 52.64|BEH 53.77|3x / iR 53.82|kE 53.87|mANF 54.29| K7 ErR 55.81|fEAEF 57.08
AR BRE mA ¥& g %P HEE = Bia oz ZES BAIK Rl BE i #E
6H5H |ax10mR|EEY Y Y FHE BEH —F B2A D mME &3 BX EK K HrE AE BRE ®E FE
®E A5 #FHE D AR BE Hi AER Bl 23 EE HEO 5E #BE BH 0E
R S Bl XE HE EF MO B3 B H5F RE FERF Al ED g &7
RE HE 1.42| Ak £ 1.30|@E #F 1.25(lLH HZ 1.20 m EH 1.20
KEF KEF WEF RN FRR WEEF
675 H | Ak gggq],ﬂﬂﬂ 1.20
WH & 1.20
R/ HH
650 | Cimk B =R 5.05 (+0.9)[:5A OB wh0l (+28)|EH —F  wi99 (+2.6)|BE 133 477 (+1.3)|FR ME 452 (+1.6)|[MEE B 437 (+15)|IE R 423 (+1.) AR EZF 410 (+1.8)
W EEF S ES WEF L& Ef AEF BWET LB ah
6550 | ras ANl BF 10.86| TRk A3 8.74(A%F MEB 871 =iH 8.56|%&E8 HAAK 823\ HZ 7.90|B8 XETF 7854 EH 7.57
KEF ./ Hf R/ HH AKEF BASH BTHFR EBFsrEF el ol
a4 6740 100m FE TR wisls (25)|EE EE wishh (+25)|A BE  widl (25)|BH L5 wlai2 25)|[ma 0E  widld (125)|ERE fEE  wlals (+25)|KGB  MER wid2r (125)|EHEE =72 wla39 (+25)
KEF TEEES BmASH TEREF AKIEF Bl By P EEES L
6550 | 800m [EI T 2:30.75(Fg  EX 2:31.04 |8 &% 2:33.38|mE =EPMEF  2:36.64[MK VHBOD 2:40.30[F8 BE 2:41.78| 2K 1B 2:42.55( & OB 2:46.03
KEH KOBEF BAEF TEFHFE TR TBEHEH EBFsr B TEHEY
ot 47 [6847| 100m e ‘ HoO%E 1282 (+15)| KB #FE 13.16 (+1.5)|1EE =E 1322 (+15)[#H E FF 1338 +LO)|FKAEA S5 13.62 (+1LB)|FHE Bl 1370 (+1.5)|MAd  #Ex 1370 +1.5)|EE P 13.72 (+1.5)
BEHFR BASH EFH EETF fBEHF i Eaden i Ed EEF
6850 | 800m e IE 2:27.97|BFH FitH 2:29.87[;IA F= 2:31.53[HEAR IHE 2:31.58|%&pE ICZ23 2:35.05(#f&1L M= 2:35.22|/\% EmEZx 2:36.61|FHKFE EEZXH 2:37.58
KEH Bk B S LEGACY KOFER 3k i Ed KEF
3447 |65 40| 100m fE 5% wi2.13 (+2.1) |[E8F & wi2.67 (+2.)|BER  EH w1272 (+2. )| BB Z1E5 wi3o7 2. )| =FEF FHAk wi320 2.0 |EA OB wiss? 2.0)|EEE ESE wisss +21)|EhE O ETE w13.44 (+2.1)
TBES ./ Hf By EH WEEF fBEHF EEF EBFsrEF TEHEY
6950 | 800m AN 2:21.59[\A& & 2:22. 21 (¥R EF] 2:25.47(FEE RBE 2:26.01|BE O 2:27.02[H LM 2:32.39(E M= 2:34.50|R R i 2:36.66
Bl S Y4 ARC KEH fEE S BWEH fEHET +FHyr P e
w27 6540 | 8omH BEE =E wi12.68 (+2.4)3E ZER wi12.81 (+2.4)| &8 = wi12.90 (+2.4) |5k  ZEF wilses (+2.4) |8 FF wi1354 (+2.4)| 86K MEFE w17 (+2.4)|EH —F wi1sos (+24) | HEE w16.49 (+2.4)
B EFH e KEF e KIEF Bl e s EF
K¥EH 53.62|BAEF R 55.12(fEE 55.49| L& 4 b 57.15|#lE 57.86|mANH 58.50(3E R 1:02.64
® AT N ¥E ®E B8 EH ER =R = KEF EE =
65H|x100mR[F S R ik &z RE B FER = BE ld% At BEE FT #¥5
R LE FE L WE %t HB  MER I Bx (LSS )l Bx
KFF ER He #&3 IR HH B XEF T HiK He L& mE L%
ZRx |&F| fEAS 75 KL 74 WEF 51 tHsEH 46 IR/ 38 BREr e 36 KEF 35 EREH 25
R |B&| k#Ed 171 B 123 | sEs 104 | BHE . 9 XEh 76 %g%i 73




